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INSTRUCTIONS: . L 4

1. Attempt all questions.

2 Answers to the two sections must be written in separate/@ns oks.
3. Figures to the right indicate full marks.

4. Assume suitable data, if necessary.

‘ 4
SECTION-I
Gue-1 A Compare the synchronous and asynchronous ng. 5
o B What are the different classes of traffig/su resilient packet ring? Explain each 7
of them with appropriate priority.
Que-1 A Define section, line and ive details about Line overhead and Path 5§
: ~overhead bytes.
Discuss about traffi e&i eri k engineering and network planning. 5
: Que-2 A Describe differer S oteotion techniques for point to point links. 6
B Write short note o ing network. 5
; OR
Cue-2 A Write short on iprotocol label switching (MPLS) . . 6
B = Give details a node structure for Ringlet 0 in resilient packet ring. 5
Que-3 A Explain the pr ion mechanism in Ring interconnection and Dual homing. 6
B Dis€uss abm@rotection in MPLS with tunnel examples. 6
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SECTION-II

A What is the role of optical line terminal in WDM network? Discuss this
necessary drawing. ‘ &
B What are the different scenarios for optical cross connect deployment? D n
explain it,
: OR
A Draw and explain different reconfigurable OADM architectures. L 4
B What is the impact of traffic changes on a network using serial ical Add/Drop
Multiplexers ?
A Discuss about the node with fixed wavelength conversion c y and limited
wavelength conversion capability in WDM netw
B - Write short note on optical layer services and inter : D
OR
A Draw the block diagram and give details abot ength routing mesh network.
B Explain different network management s imdetail.
A Explain the mathematical programmin del of routing algorithm for light path
topology design. ‘ :
B Compare PWDM, single hu ical ring architecture based on number of

[P router ports per nodé®ind n

avelengths required for a ring with eight
nodes.
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